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V Semester B.A. Degree (CCSS - Reg./Supple./Imp.)
Examination, November 2014
CORE COURSE IN HISTORY
5B07 HIS : Social Formations in Medieval India

Time : 3 Hours Max. Weightage : 25

|. 1) Objective questions :
A) The group of ‘Chahalgani’ [the forty] stands for

a) Princes b) Ulema c) Slaves d) Nobles
B) The new capital city founded by Muhammed bin Tuglag was at

a) Hyderabad b) Gujrat c) Devagiri d) Udayagiri
C) Babur established Mughal empire by defeating

a) Bahlol Lodi b) Dilawar Khan Lodi

¢) lbrahim Lodi d) Alam Khan Lodi
D) Guru Granth Sahib is the holy book of

a) Sikhs b) Parsis c) Jains d) Sufis

(Weightage 1x1=1)

Il. 2) Match the following. Match A withB and C :

A B C
a) Muhammedbin Tuglag  Krishnadeva Raya Kirtan
b) Sufism Vaishnavite movement  Vijayanagara
¢) Chaitanya Transfer of capital Suhawardis
d) Amuktamalyada Chistis Daulatabad

(Weightage 1x1=1)

I1l. 3) On the outline map of India mark the following :
a) Multan b) Lahore c) Goa
d) Benares e) Agra f) Surat

(Weightage 1x2=2)
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IV. Short notes (any seven) :

4) lgta system.

5) Token currency.

6) Sultana Raziya.

7) Nayankara system.

8) Din llahi.

9) Chatrapati and Peshwas.

10) Kabir.

11) Jagirdari System.

12) Abul Fazl. (Weightage 7x1=7)

V. Short essays (any five of the following) :
13) Explain the features of Turko Afghan architecture introduced in India.
14) Explain the nature of state and administration under Marathas.
15) Examine the polity, society and economy under the Mughals.
16) Critically evaluate the administrative reforms under Sher Shah.
17) Discuss the nature of Vijayanagara state.
18) Examine the nature of peasant economy in the Mughal India.

19) Critically evaluate the relation between Akbar and Rajputs. (Weightage 5x2=10)

VI. Essay (Answer any one of the following) :

20) How do you evaluate Bhakthi movement and its contributions to the composite

culture of India ? L

Scaks 1017000000 Tom = 170 Rme

21) Examine the salient features of Sultanate economy. . (Weightage 1x4=4) 2 bd




